SHOEEMPURSEERNRATYMR—ILHIAERFIEKXRE 4B HERE
2025. 1. 14(X)

£15: HiISP
(A)a—Fk (B)a—k
k¥ 14 - 31 k¥ 20 - 10
17 = 17 N 15 - 12
sl w4 {6 -2 }riele = |e1|T s { 17 - 8 } 43 |momut
4 - 39 23 - 13
° o o o
5F 27 - 22 5F 21 - 12
20 - 20 ‘ 11 - 15
w2 |muist| 79 { 16 - 25 } ot [z (e2[E o M3 { 14 - 12 } 53R Y
16 - 24 17 - 14
° o o °
TF 32 - 12 xF 22 - 8
29 - 15 N 17 - 18
wsle 2(103 { 22 - 14 } 8|7 Tl es |mmus| 62 { 12 - 19 } 75| #
20 - 17 9 - 15
o o e 2 15 O
B5F 18 - 15 B5F 20 - 6
22 - 12 ‘ 23 - 9
ae|mzma84 { 10 - 16 } 59| E o B [P FLgr {15 - 5 } 36 |mmout
25 - 16 23 - 13
o o o o
BFRE TR
| DEEAREPHORRSYITEE) M| RULEE S RO 2T )
241 ER A ERRUES S 241 ROt UL 55
34z BRIMBMLUTERFER 31z R BB EFR
44 RIMPLILETFFR 441 WSERNRKIL AL R S

AREZDIL~SUDTF—LIX, FIIBEAEESFFRAARZOHGEERERTD.




